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(1) arc si %=i2— C=.)7s

(2) arc sin%:%g‘(:s—g_, C )

(3) si Earc sin.(—ll—g)].—.-i_g, « )3

. Sk 4 b
n{ arc sin— =—,
(4) si ( c 5 5

(5) sin(arc sm—) =?1£-., Hif x| >1,( R



2. M=z,

(1) arc sin%:__, (2)arc sin( sin%) = ;

(3) arc sin( sin%) =57y

; x 27 L1
(4)arc sm[ sm( —T) ] = 3
(5)arc sin[sin(-2)]= s(6)are sin{sinx) = ____,

Hx€e[o, =],
3. MBE: (FEMEREBERRE )

y 1
(1)arc sm(v E) HE R
ik \/3 m e
A - —_— -—TE N
=g B-%S. G -2 DARE
Hgin =—l XE 37
(2) FHsinx 4,E‘<t< T =5 ) Mx%F

A.arcsin(—i), B,Jr—arcsin(— 1)_
4 4"

C_n:+arcsin( —i)_ D. 2w —arc si.n(—-l—),
4 4

(3)are sin ( sin%”) il T

‘e



5 5 5 5
(4) y=sinx, x€ [§21 57” , ERRERZE
A, y=are sinx, B.y= 27 +arc sinx,
C,y=2:rr—arcs§nx. D.y=7;+érc sinx,
RT3 o8 B i 5 SCOTME 38K
(1) y=%arc sin%, (2)y=arc sin~’1‘—;

(3)y=ate siny/ x; (4)y=arc sin(——;—\/xz: f)

EFFIERMESR:
(1) y=arc sinx+ 13 (2) y=arc sin(x—1);
(3) y=%arc sinx; (4) y=arc sin2x
RTFERBE:

2 R st e
(1) —-are o SR~ (2) cos(arc it ),

(3) tg[arc sin(-%)];u)ctg(arc sin%),

(5) sin(2arc sin%), (6) cas(Zarc sin%),

(7 sin[-;-arc sin( - %) ] 3



(8) cos[-;-arc sin( —-‘;—) j;

(9 tg(—au smg) (10 ctg[ Loie sm\/Zj

10.

11 lnl:arc ns & (_ )

(11) sin gln-s +gro;sin 71],
s | 1

(12) tg[arc 51_1'1~é_+arc sin(_z)].

AREAERET TS fx, (0<x<2m),

(1)sinx = ;11—; " (2)sinx = —,;_,

(3)sin x=a (|a| <1) |

. M 12 56 .
> arc sin-— +arc s1n— =7 —arc s1n——
Riks 5 13 65°

HEB R s

(Dare sinL 5%, (Dare sin(-0.4)5 - T

(3)arc sin(—%g) Harc sin(—=0.77); -
22

4)m —arc sin__7r+a in

( 02 k74 are sin(( - 2

% T 3 o B0 B X ] _
(1) y=arc sin( 1 —x); (2)y =arc sin(2*



11,

12.

13.

14.

(3) y=arc sin(log_é-_x), (4)y =arc sin(x?),
HAMTHRBOTEE:

()y=arc sin(-x); (2)y=arc sin(x+2)y -
(3) y= (arc sinx)?,

B RMARER,

(1arc sin(2x+1) = %, (2)arc sinx’_ = %,
(3)arc sin5x = 2; (4) [arc sin(x—-1)]1*=2;
(5) arc sin(log,x) = - -:_; (6)arc sin3x>arc sin(x — 1)

(7)arc sinx*<arc sin2x; (8)arc sin(2*) >arc sin(2%*-!) .

B,

(1) arc sing = _;; : - (2) arc cos0=:__-;

(3) arc sinl= (4) arc cosl= 3

(5) arcsin(—=1)= (6) arccos(—=1)=__ 3
™

(7) arc COST_ s (8)arc cos( ——)

W7,

(1)Farc cosx=%’ Marc cos( — x) =‘,_, :

(2) %cosx=%, Hex€L0,277, Mx=_ . 4

@) Foosx==2, stpre (x, ), pr=___y
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3

(4) Fcosx=1, Hex€[0, 2n], Mx=___
M TFHAEREFTER: (ERNEBSHE “V",&
WREYHE “%x7).

(1) arecosz=25 € )

(2) arc cos( -.‘_/E:'L o _%, ( )'
(3) cos(arc cosg.) =%, ( )
4) cos(arc cos?;_\) =%, C )

(5) arc cos[ cos( - ——)] = - %; ( )‘

(6) arc cos%—+arc cos( --;—) =2 4 )
RAE: :
(1) arc cos[ cos( - 5’53) ];

(2) arc cos( ¢:os11T 3

(3) arc cos(cos(—2)Js
(4) arc cos(cosd),

e, (%EE‘JIEEE%*R%?—”T‘)
(1) FEcosx=——, G( 5 , Mlx&F



A, arcccs( - l) "
3
B, m-arc cos( -

w'.—-

C. 2m-—arccos

7
i

© |

D. 27r-arccos( - %) Brarc cos( - %) .

(2) arc cas[ cos( - 252) ] T 2

A -2E B g2 2% p 3T
5 53 5 5

(3) cos(arc coslzr—) B R

A. % B. -1. C. 1, D. R#EZE.

(4) y=cosx, x€[x, 2], BEMREHEE
A, y=arc cosx, B. y=m+arc cos x,
C. y=2m-—arc cosx, D, ¥R,
18. R T 7l R E M & SCRANE IR
(1) y=arc cos(3—2x); (2) y=arc cos(x*+1);

(3) y= -;‘—arc cos(5=x) = m;



